Table 2. Estimated number of spring/summer chinook adults available for spawning, adjusted for hatchery
releases, brood years 1962-1995.

(SP1) (AdW + AdR) (AdE) (SP2)
Hatchery Adult
Potential Hatchery Juveniles Equivalents: Adjusted
Brood Smolt wild Adults Released Juvenile Potential
Year Year Spawners 1/ Released 2/ (1,000)3/ Releases 4/ Spawners5/ SP2/SP1
1962 1964 51436 0 0.0 0 51436 1.00
1963 1965 35263 0 0.0 0 35263 1.00
1964 1966 35462 0 0.0 0 35462 1.00
1965 1967 20690 0 0.0 0 20690 1.00
1966 1968 42920 0 0.0 0 42920 1.00
1967 1969 49455 0 0.0 0 49455 1.00
1968 1970 47837 0 0.0 0 47837 1.00
1969 1971 52321 324 21.1 12 52741 1.01
1970 1972 41366 358 768.3 438 42361 1.02
1971 1973 35703 119 934.0 533 36518 1.02
1972 1974 36842 152 0.0 0 37032 1.01
1973 1975 35771 369 750.1 428 36767 1.03
1974 1976 17516 67 1263.1 721 18501 1.06
1975 1977 17776 0 292.1 167 17985 1.01
1976 1978 14483 0 185.1 106 14615 1.01
1977 1979 28367 24 416.7 238 28695 1.01
1978 1980 36925 0 216.8 124 37080 1.00
1979 1981 5285 32 267.6 153 5516 1.04
1980 1982 6166 33 0.5 0 6208 1.01
1981 1983 11267 661 1.0 0 12094 1.07
1982 1984 10646 144 94.6 53 10892 1.02
1983 1985 9414 271 1008.7 544 10432 111
1984 1986 7399 568 205.7 105 8240 111
1985 1987 8441 1104 1947.6 1032 11111 1.32
1986 1988 10829 4319 1278.5 689 17089 1.58
1987 1989 10297 3610 2681.1 1450 16621 1.61
1988 1990 10844 3575 3491.3 1832 17603 1.62
1989 1991 5379 917 50.0 21 6551 1.22
1990 1992 6594 1475 67.9 0 8438 1.28
1991 1993 5020 598 103.3 0 5768 1.15
1992 1994 12433 2452 480.4 0 15498 1.25
1993 1995 9967 3414 1405.9 0 14235 1.43
1994 1996 1721 595 na 0 2465 1.43
1995 1997 1116 113 na 0 1257 1.13

1/ From Table 1.

2/ Sum of adults passed by hatchery weirs (AdW) or released from hatcheries (AdR) into streams to <

3/ Sum of age 0 juveniles (fry and parr) released into streams.

4/ Number of hatrchery adults (AdE) required to produce juvenile release. Brood year 1994-1995 data
not available (na). Brood year 1990-1994 juvenile releases contributed only to hatchery smolt index

5/ SP2=SP1 + (AdW + AdR + AdE)/0.8



spawn.

X (see text).



